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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.
1.  
What is an industrial dispute under the Industrial Disputes Act?

2.  
Give the meaning of the term “Gherao”  and  “Picketing”.

3.   
What is the meaning of collective bargaining?

4.   
What are the major pre-requisites for an effective participation?

5.   
What are the unique features of  an ILO?

6.   
List the few roles of Welfare Officers.

7.  
Distinguish Social Insurance and Social Assistance.

8.  
What are the effects of alcoholism on the employee?

9.   
What are the problems of Women workers in an organisation?

10.   
Define Social Security.

11.  
What are the advantages of  labour welfare measures?

12.   
What are the main problems of trade unions in India? 
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.
13.   
Explain the objectives of Industrial relations.

14.   
Explain the duties of Labour Welfare Officer.

15.  
Explain clearly the following approaches to Industrial relations 
            a) Systems approach b) Pluralist approach and c) Marxist approach.

16.  
Why do industrial disputes arise? How can such disputes be settled?  

17.  
How to evolve a satisfactory and commonly acceptable method for recognition of trade unions in India?

18.  
Explain the concept of Social Security.

19.  
Describe the essentials of a safety programme in a company. Why is the support of top management vital to the success of this programme? 
SECTION C — (3 × 10 = 30 marks)

 I - Case Study (COMPULSORY)                  
20. 
Compulsory Question – (case study)
                             ( 1×10=10 Marks )  
In Jay Engineering Works after a three months strike the work had resumed. However on the very first day of resumption of work there was a problem on account of shortage of snacks in the first shift which resulted in a tool down. In the first shift on the day of resumption of work, Samosas were served as snacks for breakfast. The normal rule was that each workman should take only two pieces of snacks. However as the Samosas were tasty, the workmen started consuming more than two Samosas which resulted in shortage of Samosas. Ashok, a workman who was a very reasonable person and who was considered as very close to the management, had come late to the canteen.                   When he found that the Samosas were not available, he raised a hue and cry and demanded from the Canteen Officer that Samosas should be served to him and that he would not accept any other snacks except Samosas. The Canteen Officer expressed his inability to serve Samosas and instead offered to serve biscuits. Ashok declined to accept the same and once again insisted that he should be served Samosas. When the canteen Officer told Ashok that it was not possible for him to serve Samosas, Ashok got upset and took his grievance to the Union Committee members. The Union Committee members felt that this was an opportunity for them to win over Ashok to their side. They therefore took up the cause of Ashok with the Canteen Officer. They threatened the canteen Officer that they resort to a tool down if the grievance of Ashok was not resolved. The Canteen Officer expressed his inability to serve Samosas to Ashok, but offered to serve biscuits instead. Not satisfied with the solution given by the Canteen Officer, the Union Committee members gave a call for a tool down. The activities of Jay Engineering works came to a grinding halt.
Questions: : 

a)   Analyse the case given above and elucidate the problem and causes.

b)  As a Personnel Manager of this Company how would you handle this case?
c)   Are the workers right in their approach?  Comment.
II
Answer any TWO questions                      (2 × 10=20 marks)
21. 
What are the causes of poor industrial relations? What are the effects? Give your suggestions to improve the legislation concerning industrial relations in our country.

22. 
Prompt and equitable settlement of labour disputes is an important basis for sound industrial relations. Discuss.

23. 
“High rate of absenteeism and labour turnover are harmful to both employers and employee.” Explain.

24. 
Explain the social problems affecting Industrial Labour.
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